G EEEETtee

mE AT A
Tv rOTREHIBRESINTUNNET
b L] 58
f——H——HP H
g —
| |
L L
159 15°
/“-\ /\‘\
Z
D D
SEEEA A T
7 0% wawe | D L 3 P FRe
= AR = +0.1 |+0.5/-0 | +0.25 | +0.3/-0 =
MA % 0.7 SS-CE-SM4 | 0.5~2.5| 590 | 16.00 | 7.00 0.50 6.10
M5 % 0. 8 SS-CE-SM5 | 0.5~2.5| 6.90 | 17.50 | 8.00 0.50 7.10
M6 % 1.0 SS-CE-SM6 | 0.5~3.0 | 8.90 | 21.00 | 10.00 | 0.50 9.10
M8 x 1. 25 SS-CE-SM8 | 0.5~3.0 | 10.90 | 23.50 | 12.00 | 0.50 11.10
M10x1.5 SS-CE-SM10 | 1.0~3.5| 12.90 | 26.50 | 14.20 | 0.80 13.10
LG A T
TR o % o | D L g P | e
= G = +0. 1 +0.3 |+0/-0.5| =+0.1 =
MA %07 SS-CE-LM4 | 0.5~2.5| 590 | 16.00 | 9.00 1.00 6.10
M5 % 0. 8 SS-CE-LM5 | 0.5~3.0| 6.90 | 18.00 | 10.00 | 1.00 7.10
M6 % 1.0 SS-CE-LM6 | 0.5~3.0| 8.90 | 21.00 | 12.00 | 1.50 9.10
M8 x 1.25 SS-CE-LM8 | 0.5~3.0 | 10.90 | 23.50 | 15.00 | 1.50 11.10
M10x1.5 SS-CE-LM10 | 1.0~3.5| 12.90 | 26.50 | 17.00 | 2.00 13.10
ERESHAEE T 7 X+ — http://www.fastening.ip/

T 374-00737% & IR S M v I2 R ET1090-1
TEL 0276-72-7450 FAX 0276-60-5284




